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SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlgﬁ HDZ2
AASLE =S XA 124,395 93,870 30,525
= 87,077
Al 18,659
- 18,659
301 LBt A= 124,395 93,870 30,525
= 87,077
Al 18,659
- 18,659
01 AR E & A 462 124,395 93,870 30,525
OgAotssr+= XA 114,941,000& 114,941
= 80,459
Al 17,241
5 17,241
ogay s 9,454 ,000& 9,454
= 6,618
Al 1,418
- 1,418
HO0tsSYAAZTE X2 9,153 7,692 1,461
= 6,407
Al 1,373
- 1,373
301 LBt A= 9,153 7,692 1,461
= 6,407
Al 1,373
- 1,373
01 AISIE & A %52 9,153 7,692 1,461
O&FMOtsSYAARE X2 XA 9,153,000 9,153
= 6,407
Al 1,373
5 1,373
Ols2EXIAIER 94,464 83,092 11,372
= 66,126
Al 14,169
- 14,169
301 et A= 94,464 83,092 11,372
= 66,126
Al 14,169
- 14,169
01 Al B & A 46 2 94,464 83,092 11,372
Oots &< <X & H & 94 464,000 94,464
= 66,126
Al 14,169
- 14,169
XNEotsHEH&d X & 1,859,350 1,502,388 356,962
= 887,675
Al 527,838
- 443,837




M OEED
B FHo)E O 25
H2: MAS OlsEsS (e H)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
307 2Iz2to| & 1,859,350 1,498,138 361,212
= 887,675
Al 527,838
- 443,837
10 MM SAAEEHESIGHEX 1,780,990 1,418,242 362,748
OX<EotsHdgHII22d9| 1,696,990,000& 1,696,990
= 848,495
Al 424,248
5 424 247
OXE0ISHESAIANEE =G
100,000& x70Q!I x12& 84,000
Al 84,000
11 A EXAIEEX 78,360 79,896 N 1,536
OXE0ISHEHAHEE - EZSHY
29,760,000 29,760
= 14,880
Al 7,440
- 7,440
OXNYGotsdHER2YHI 48,600,000 48,600
= 24,300
Al 12,150
- 12,150
OlSEX WAHX & 309, 120 353,760 N44 640
= 154,560
Al 77,280
- 77,280
101 Q124 H| 309, 120 353,760 N 44,640
= 154,560
Al 77,280
- 77,280
04 JI2ZtHIZ2 2 NEES 309, 120 353,760 N44 640
O0l=s=X DA 309, 120,000& 309, 120
= 154,560
Al 77,280
- 77,280
ATHOIOI A ¥ =H| X & 158,000 167,000 A9,000
Al 54,000
- 104,000
301 AP B A 158,000 167,000 £9,000
Al 54,000
- 104,000
01 Al B & X 26 2 158,000 167,000 29,000
OATHOOI A A= HI X & 50,000& x1802! x12& 108,000
Al 54,000
- 54,000
OFMoIsMEHAS XA 50,000,000 50,000
Olsg 28 2,026 1,834 192




AN GEIEY
HE: HANUS OIS B35
22 HAS OsES (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 ¢er24| 1,066 994 72
01 At 22l 1,066 994 72
o2g+g 490
PR EEEEEE -2 =
70,000& +7Q1 x13] 490
O= &l 576
—OISYREISAZ A
6,000 #1211 «120 2 «80%<E 2> 576
202 04l 960 840 120
01 = LH 4 Hi 960 840 120
O0tsg R0t
20,0003 12«60 «B0%<E 2> 960
A - INFAE OIS HAXZ AL 1,747 2,000 A 253
= 1,223
Al 262
- 262
307 21201 A 1,747 2,000 A 253
= 1,223
Al 262
- 262
11T AL S XA E X 1,747 2,000 A 253
O - IIFAEISHEXNZ ALY
1,747,000 1,747
= 1,223
Al 262
- 262
Esos1se=2d 61,998 48,532 13,466
J| 23,071
Al 19,464
- 19,463
307 21201 A 61,998 48,532 13,466
J| 23,071
Al 19,464
- 19,463
10 ALSISXAIEEER2IHEX 61,998 48,532 13,466
OEsitslses2d 57,678,000 57,678
J| 23,071
Al 17,304
T 17,303
OotsSsdalIEd(OE8)EMASEE
4,320,000 4,320
Al 2,160
T 2,160
OISHALAEHSEAMUIA(SEAEIEAY) 254,589 238,720 15,869
= 254,589
101 @144 dl 84,523 58,420 26,103




AN GEIEY
B FHo)E O 25
Eel: HASs 0ts:Es (=& J)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 84,523
04 D12t Z2XEES 84,523 58,420 26,103
OAMdlZel 2+ 2 (CUHEEESEE)
70,713,000& 70,713
= 70,713
OAtdll 22l Tt =820 bl 13,810,000& 13,810
= 13,810
201 Let24d]| 30,300 21,150 9,150
= 30,300
01 At 2teltl 29,600 20,450 9,150
Ogt+=ZH| 21,000
— CYAEEYBR I 15,000,000 15,000
- 15,000
— CEHAEHEINEZIANLEE=MNE
5,000,000& 5,000
= 5,000
— CEEAEEI =Y 20,000& x50H 1,000
= 1,000
O<fIEn=Hl 3,000
—CEHAHENMZS WS 3,000,000& 3,000
= 3,000
ozdg=¢ 2,660
— 2SR HEHAEH 70,0003 901 +23| 1,260
= 1,260
— HFHHIEE g E A= 70,000& x5Q1 x43] 1,400
= 1,400
O= &l 2,940
— CUABEARZASAY
7,000&3 %301%140 2,940
= 2,940
02 =224l 700 700 0
OA&EHl Xl 700
—CEAHEMSSSHAMAE RN E S
700,000& 700
= 700
202 oddl 3,600 4,020 AN 420
= 3,600
01 = LH o4 1l 3,600 4,020 A 420
OEEAEBEYREF=A0OLH 20,0003 «32!1+60L 3,600
= 3,600
301 et A3 126,166 135,130 A 8,964
= 126,166
01 MI28E +06l= 120,706 131,530 A 10,824
OEHAEBEMSRNE TR AAAMS
120,706, 000& 120,706
= 120,706




AN GEIEY
HE: HANUS OIS B35
22 HAS OsES (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
09 HALAHIEA S 5,460 3,600 1,860
OXESAXAHI 24 5,460,000 5,460
= 5,460
307 21201 A 10,000 20,000 210,000
= 10,000
01 92724l 10,000 20,000 210,000
O MAZEZZ ST 2 A 10,000, 000& 10,000
= 10,000
=22 KK 17,732 5,645 12,087
= 12,413
Al 2,660
- 2,659
301 LAz 17,732 5,645 12,087
= 12,413
Al 2,660
- 2,659
01 MI2EZE+06l= 17,732 5,645 12,087
oY= 22 XX 17,732,000 17,732
= 12,413
Al 2,660
- 2,659
dad B 9 4 649,896 1,261,752 A611,856
= 75,114
J| 68,660
Al 61,757
T 444,365
A8s 2448 =4 649,896 1,261,752 A611,856
= 75,114
J| 68,660
Al 61,757
T 444,365
HLAEAER2S 339,056 238,342 100,714
201 L4l 15,056 14,342 714
02 =224l 15,056 14,342 714
OFAESHZAE R XY 15,056
— 20 Ol ot 3, 100& *4,543.59m 14,086
— 1540l ot 2,593@x373.84m’ 970
307 21201 A 324,000 224,000 100,000
05 RIZt2IE = 324,000 224,000 100,000
OFad=Ed22Y 300,000,000& *17H £ 300,000
OFAUESAT2 I 24,000,000 * 10 2 24,000
2 =0t2tC0I2E X & 150,228 145,500 4,728
= 75,114
Al 37,557
T 37,557




AR GRS =

Hm: HAW 25 U 84
el A[E HAW |A (S5 &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
307 2Iz2to| & 150,228 145,500 4,728
= 75,114
Al 37,557
- 37,557
11T AISIEXAIEEX 150,228 145,500 4,728
OFAGEYL NS00I 2E XA
150,228,000 150,228
= 75,114
Al 37,557
- 37,557
HAUAHAESHdZTZ ) 19,442 6,310 13,132
201 Bt 4,182 2,718 1,464
01 AFR 22| H| 2,384 1,818 566
Ogbt4=24| 1,232
—HAESHE 4,400 35021 *80%< & 2> 1,232
o=l 1,152
—HAUYRETS2Z A
6,000 x201 x 120 *80%< & 2> 1,152
02 Z2=2=2494| 1,798 900 898
OZ2ZQ22 N A 1,798
—HAUEUZAHALBER 2 580 x3, 10024 1,798
202 04| 1,920 1,652 268
01 2Ll 1,920 1,652 268
SEPNEEEESIVE]
20,000 201 x50 x80%< & 2> 1,920
301 LBt A= 1,940 1,940 0
09 SHAIAHI EAZ 1,440 1,440 0
OHLAHBSSHSHLEUTAH B4
6,000 *x202! x123] 1,440
11 JIEtE2 A= 500 500 0
OFAEKMNEAHA DA 100, 000& x521 500
307 QI2t0| & 11,400 0 11,400
02 QI2tAAMAIE E =X 11,400 0 11,400
OBAMHARJUE XN PE I ESASH XA
10,200,000 10,200
OFAERMNSHUANGSSAILH XA
1,200,000 1,200
HAULHANEXN AN 63,120 58,800 4,320
J| 31,560
- 31,560
307 giztol A 63,120 58,800 4,320
J| 31,560
- 31,560




2N

b
Hm: HAW 25 U 84
& HEE AW 84 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
11T M SRASE EX 63,120 58,800 4,320
OFL2EHANARNES XA 63,120,000& 63,120
J| 31,560
- 31,560
ELAEHEHESAY 6,800 6,800 0
J| 3,400
T 3,400
307 21201 A 6,800 6,800 0
J| 3,400
T 3,400
TEEFNEEE: 6,800 6,800 0
o} -PNCE EEE R P
2,000,000& *2J4 & 4,000
J| 2,000
- 2,000
OFAHENRAY2ENE
2,800,000& 104 & 2,800
J| 1,400
- 1,400
sotcl s 26,250 7,000 19,250
J| 10,500
Al 10,500
T 5,250
307 21201 A 26,250 7,000 19,250
J| 10,500
Al 10,500
T 5,250
11T MISAASER 26,250 7,000 19,250
OotsEadESXA(S0tal) 26,250,000 26,250
J| 10,500
Al 10,500
- 5,250
HAURHESEN 28,000 28,000 0
J| 11,200
Al 11,200
- 5,600
307 21201 A 28,000 28,000 0
J| 11,200
Al 11,200
- 5,600
11 ALS S RALEE = 28,000 28,000 0
OUSHEL2HUEBSIA(2E) 28,000,000& 28,000
J| 11,200
Al 11,200
T 5,600
SEXNFUHLNELAEXSA 17,000 17,000 0
J| 12,000




2N 6HEIEY
X
(=R B o

24 25 2
el A[E HAW |A (SHol: @)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 2,500
T 2,500
301 et 8= 16,600 16,390 210
J| 11,720
Al 2,440
=1 2,440
01 MEIBEZE 06z 16,600 16,390 210
OSENAUHLEAEX A 16,600,000& 16,600
J| 11,720
Al 2,440
- 2,440
307 21201 A 400 400 0
J| 280
Al 60
- 60
11T AR SXAIEE = 400 400 0
OSgXaHaEa~E 22 400,000& 400
J| 280
Al 60
T 60
HHE2LZH(HAEIIED) 117,218 61,280 55,938
= 45,411
- 71,807
ol 2 gl 98,716 61,280 37,436
= 45,411
- 53,305
ol 2AY| 53,305 0 53,305
101 @14 Hl 53,305 0 53,305
01 2= 53,305 0 53,305
oAt 2%
9,332 162! «35A1 2t * 12& +85%< & 2> 53,305
QIHARIHI(EEAEE) 45,411 61,280 A 15,869
= 45,411
101 @124 dl 45,411 61,280 A 15,869
= 45,411
03 I AHA2ZZRHE > 45,411 61,280 A 15,869
OEEAEBERIAHAZZNE SR
(bUHBEESEE) 37,271
37,271,000&
= 37,271
OESEAEERIAAZZ U U EH L 0|
8,140,000 8,140
= 8,140
Jl= &l 18,502 0 18,502
JlEdl 18,502 0 18,502




SN OEED
= HE2GFU (WAL=
¢l =gl (chel & 9l)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 ¢er24| 12,103 0 12,103
01 At 22l 12,103 0 12,103
ORM2E=EH 8,032
— RNRYYRETL Y|
10,039, 0003 *80%< & 2> 8,032
O= &l 1,959
—eNsgYeRT S
6,000 #1721 +24 2 +80%<E 2> 1,959
Oogxtz 2,112
— =AML= 120,000& =128 1,440
—d=I|dXE 56,000& x12& 672
202 O4dl 3,039 0 3,039
01 = LH o4 1l 3,039 0 3,039
OIS ERFAAHI
87,4003 #4021 x3 x23| «BO%<E 2> 1,679
ORN2EERFAA
20,0003 #1721 x5 «80%<E 2> 1,360
203 R =&l 3,360 0 3,360
04 FN2ELRZ=TH| 3,360 0 3,360
ORAM2IYRFLHI
350,000& 123 x80%<E 2> 3,360




